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JIE 132 K 4 OUT IN GR HDCP NET B
1 B RKER 47 46 93 21.0 72.0
2 FHh BX 4 46 90 17.0 73.0 BGA-I
3 Eg= i 0 48 56 104 29.0 75.0
4 RA BEE 49 44 93 17.0 76.0
5 ER {E¥EE 47 44 91 15.0 76.0 BGA-TI
6 BRK # 49 47 96 19.0 77.0
7 mH B 51 49 100 22.0 78.0
8 g FEE 46 45 91 13.0 78.0
9 JNEE ERKF OS50 49 99 21.0 78.0
10 Bi E= 55 51 106 28.0 78.0
11 Ki5g Z=EB 53 54 107 28.0 79.0
12 INR#E SR 43 49 92 13.0 79.0
13 R REj 46 46 92 13.0 79.0
14 WA HBA 51 53 104 25.0 79.0
15 =i BY 49 47 96 15.0 81.0
16 AEI & 49 54 103 22.0 81.0
17 =i ER 57 67 124 41.0 83.0
18 HE XA 47 54 101 18.0 83.0
19 L B\ 57 56 113 29.0 84.0
20 wAR #HIL 61 52 113 29.0 84.0
21 HR B 56 52 108 24.0 84.0
22 =% HE 47 62 109 24.0 85.0
23 ING FREE 56 55 111 26.0 85.0
24 M+B &8 50 57 107 22.0 85.0
25 =H B 53 49 102 17.0 85.0
26 X% HEHE 52 57 109 23.0 86.0
27 IIER  REE 57 65 122 36.0 86.0
28 2H BX 53 56 109 22.0 87.0
29 R &EE 61 59 120 33.0 87.0
30 Bk MA™ 56 60 116 28.0 88.0
31 FM  1ERA 5 56 111 23.0 88.0
32 At BEE 58 61 119 31.0 88.0
33 ¥ R= 62 64 126 38.0 88.0
34 e R 54 60 114 26.0 88.0
35 HE FBE 58 57 115 26.0 89.0
36 g 2 #R 60 55 115 26.0 89.0
37 Fith HE 55 58 113 23.0 90.0
38 Mt &# 70 61 131 34.0 97.0
39 KK EBEKEB 62 73 135 34.0 101.0

BmXAEHDCP - BEIEM: FREEL




& b L < AFFBRE

B H 5 F1065E11 5106 BBA Y= 5T

g5z K % OUT IN GR HDCP  NET ] g5z K % OUT IN GR HDCP  NET e
1 ‘R #h 38 31 15 40 T71.0 31 WK FE 46 48 94 140 80.0
2 E% Bk 46 43 89 16.0 73.0 32 FHK Rt 47 43 90 10.0 80.0
3 e B/RX 48 47 95 20.0 75.0 33 FIR BB 46 50 96 15.0 81.0
4 X MX 42 42 84 9.0 75.0 34 WmE FZ= 52 43 95 140 81.0
5 =t E 52 46 98 23.0 75.0 35 BAE R 50 44 94 13.0 81.0
6 K ¥ 40 46 86 11.0 75.0 36 A4 = 54 53 107 26.0 81.0
1 EX EA 42 46 88 13.0 75.0 37 F4~l B 49 51 100 19.0 81.0
8 R == 39 36 15 0.0 75.0 BGB 38 ME BN 43 39 82 1.0 81.0
9 & BF 47 45 92 16.0 76.0 39 KB krE 44 46 90 8.0 820
10 &k RIR 51 48 99  23.0 176.0 40 KHEJNl #E— 53 53 106 24.0 820
11 AR F— 4 45 89 13.0 76.0 41 (VN R 53 55 108 26.0 82.0
12 BE 53 46 99  23.0 76.0 42 FEE ={(Z 53 46 99 16.0 83.0
13 iE KX 45 42 87 11.0 76.0 43 A E= 47 46 93 10.0 83.0
14 MR FER 42 42 84 8.0 76.0 44 ML R 60 59 119  35.0 84.0
15 il FZ 48 54 102 25.1 76.9 45 e @& 58 48 106 22.0 84.0
16 HE &5 46 44 90 13.0 77.0 46 a9 RX 50 44 94 10.0 84.0
17 B 8k 51 49 100 23.0 77.0 4] )| = 49 58 107 23.0 84.0
18 AR #X 51 56 107  30.0 77.0 48 AHK Mz 53 50 103 19.0 84.0
19 AR #&% 42 39 81 4.0 710 49 FAR #x 54 49 103 19.0 84.0
20 AR - 52 53 105  27.4 T71.6 50 R RiE 51 55 106 21.0 85.0
21 e RH 50 57 107  29.0 78.0 51 N g 47 54 101  16.0 85.0
22 #E F5h 0 46 46 92 140 78.0 52 X% ZE$ 51 46 97 12.0 850
23 R 13E 4 40 84 6.0 78.0 53 HE 5 62 117  31.0 86.0
24 % —m 47 53 100 21.0 79.0 54 EpiKE JE— 53 69 122 350 87.0
25 Al BhE 58 52 110  31.0 79.0 95 RE KE 51 53 104 17.0 87.0
26 #H @M 53 51 104  25.0 79.0 96 gy &= 51 53 104 16.0 88.0
2] B 1IEB 52 55 107 27.0 80.0 57 B ikl 60 59 119  29.0 90.0
28 AR&R #2BA 53 53 106 26.0 80.0 o8 R ==X %5 99 114 240 90.0
29 Wim X 45 31 82 2.0  80.0 99 k& ®EE 64 47 111 18.0 93.0
30 iwmil #F 47 45 92 12.0 80.0 60 xEF &M 51 82 133 26.0 107.0
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